SVOLGAMENTO PROVA SCRITA ol

3 AR A sl A2lto 20 2

_@“-’ Qf%\ It (7Y ()-XB +&m(>5) .

ouw\fa((x

R A

+( —--—+®(>f))
::'-—-r )C?
..._-X4
SHiin +o(x*) _:b_ie
X O Al
0&.'7[0 b2 Suuc /Q/ 3_%&( 3) _{f_
3 ’e’c’éoc




2) ]w‘: \/LB*/Y ‘.:Z | @

W+ .\b_U—«“- Z\rg
S>zf-43 - 4l3 [@& ()~ s ()]
174 i
=D %,{1 ' \Jg %3: -—4 AE

2 Y4z 1 Z = -—ﬁ |

9 g Ty el LT
S22 -8 (foxl) = 2 tua()) < S)
(S R,

'&Lu: S(QZ— &(O_\—B:"'OQ, AS | VEIT (ALE

NP xX=CO.
e’ S(’q = &m ARy,
XD 400 XX N ANDAERTO  SOPERL) NEAE

=> NO AS. oRLIQO



. ‘Z_
§()=4x-2 = 4);/{ 30 <=> %<~

Solwcmozm ( O —~-—> OCQA&M( é/O) ~

/
%otwmczm@ ’Q) ow;ua,u,\(w ),

Moﬂ HIN . ASSOLOTO -
%eo@& %(JJ} ( )__fﬁx3>o

Z

.__T g()ﬁ>>? | Vxei&%
S(ﬁ 4+-—>O Yve 1

| .g Mm (‘00103 e O *003

NI_L_..
M-






5
G) =t obk-- FO\X = kot

Z
JC(O\—‘—’O ; {7(—‘(0{0\“‘\"00

§:i@@x)<, @gm ‘

SQMMMOC/Q\& Q%ﬂ-u.éﬂﬂz\&w{ ;E\“

mﬁgm w Jo, o ).

%/&D g% ‘%o«l% /YL
N 2(tetet- 2

O O



